DEVELOPING NUMBER. ..
— Fractions & Percentages

:

Percent: parts per 100 —written using the / symbol
Decimal: a number in our base. 10 number system Numbers to the right of the decimal place dre called decimals
Fraction: a fraction represents how many parts of a whole vale you have
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| Bythe end of this unit you should be abke to: |
|« Convert between FDP kss than and I
| more. than 100 |
|« icredse or decrease wsing muttipliers |
. Express an amount as a percentage |
: * Find percentage change :

|

Reduce: to make smaller in vale

Growth: to increase/ to grow

Integer: whole number, can be posttive, neggtive or zero

Invest: use money with the goal of it increasing in valve. over time. (Usualy in a bank)
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| Convert FOP (R ] ” Eraction/ Percentage of amount (R ] |
I 70 Th ko ___ 10 cutof 100 j Ohngedrs || — |
I @) — Means _>7o;%ﬂ'2ths'_> —> _ 707 I Fmdgof o0 [ERTeuTen TenTel] |
I Using a o ,[OO = 7 ‘tenths’ : : £36 |
! 07 Remember Remember I
| cakulator i ‘ Be careful of recurring decimals 5 07 of £60 - £6 i 360/ - 06 |
| m eg | -03333333 ||| 57607 50/of £60- £30 5 |
| -5~ = $=D |Comert to g decimal 5 - (;'3 [ 607 of £60 = £36 607 of £60 |
| Tre dot above the 3 1 - 06x 60 |
This will give. you the answer \ 100 converts 0 -£36 |
in the simplest form to a percertage T
- lapecenoee W _________ __ __________ I
: Convert FDP < and > 1007 H Percentage decrease: Muttipliers ” Percentage increase: Mutipliers |
' 4 V4 I
: 100 hundredths Gl 40;%“{?““ :: < 'O/ > “ < = > >
entns
| et e [ Wz | |
: 140 hundredths : : 427 Decrease bg 58/ ” herease blj 27 I
U
ooy | Hents 1 1 :
H eoso | Il 1007 - 58/ =42/ Mipler || 100/ + 12/ - 12/ Mitipler |
1| - 140 | 100-058-042 4 Lesthon | 100+0L- (2 4 Moethn| :
I
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: Express as a 7 - Non-cakulator Percent — per hundred 1) Express as a 7 - Cakeulator

[
I () Qo (©) () :|> 7 per every 10 are omﬂ@e:|> This means that 70 per every 100 :|> I I Rosie 105
707 y
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I areorange 70 I
| 0% & 00 (s = s 433333...7 |
I 1 3_0-—>|:,—>50—>x|oo—>43/ |
| 27 per every 50 shaded | 94 per every 100 shaded I - :
| Al 5. 547 I This the same as |
I 50 100 1 Can't use equivalence 13-30
| I easiy o find ‘per Decimal percentages I
| | Denominator 100 || Equivalent fractions | I hundred’ are stil a percentage :
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| Percentace change II" Choose. appropriate method |
| I bought a house for £180,000,1 I pprop |
I | bought a phone for £200 lter sold it for £216000 Il oq |
| QO year later sold it for £125 | |
I 1007/ [ The language. and wording of |

00/ , L ) | the question is the key

| ’ . | Oll values of change [ £180,000 | I I
| | £200 | 4 compare to the | [ | Il |
| £125 [E— ORGINOL vale e | |
| Percentage bss Percentage profit | Have. you represented the question in d |
I 5, 100- _Differerceinvabe . x 100 —¥ 36000 [ bar model? |
I 200 00 =375/ Orignal vake Money made (profit vae) 130000 100 -207 [ Can you vse a calculator? |




